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3rrféiat & forw srerger/ Instructions to the Candidates

TRt BT IR F T A Y | @l mmmﬁwmwﬁ%mwﬁwﬁml / The question paper is in
the form of test booklet. All candidates will be assessed on identical questions.

YA IEGfeTSE T & WY o6l o7 61 U6 3/ I1 3ot At 9 Seerd Ao (v), @), @ R @) Rraw g z=ad
el U E1 TET ¥ 3N Ha® 3G ScoRk T T AT ST / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

mﬁaﬁﬁwm?r%ﬂ%’rmésmmﬁ—eﬁﬁ%sﬂw@mmw%mmﬁmﬁmwmaﬂm/All

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

TS N & T 31 3oa< & X 3ESHT el 3’ ATAT S1eam| / Multiple answers for a question will be regarded as
awrong answer.

It 3 & forT gt arewfigt #r U 37T 3NTANR 3} U US [T 9T §1 / A separate OMR answer sheet is
provided to all candidates for answering.

TAIR 97 T T T IR P e 0| AN O W o 3R He 3uged 3ol B et e & faw
Faer afer GiEe 9T (FN/FTel) T TANT HY| / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.
mag%%ﬁﬁ#raﬁ%ﬁrmwé:mwgmﬁmmmﬁmgm%l =8 37feard ¥ & AR e & sieg |
g 3R 3 &9 & 9ar | WA T T W ek TF FH Hediehe] ool 19T STTT| / Question booklets have been

marked with A or B or C or D or E on the right side top corner, which is mandatory to be wrltten on the OMR sheet in
the box and bubble approprlately, fallmg which, the answer sheet will not be evaluated.

graifen oveT ATty & 318 TReger W S & §, R ofr 3o e g Feeaet § o Zumisre wemdh &9 & 310 HAG A
ST Y| S Farer 3T AT age AR § SAR T 9aile o | AT 3erdl AT T ST Hehel & I a1 A et wared

O 9199 3T Gha &1/ Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

I 3 g1 A YRt 3 SUet T W Fedl i RR ST el 1§86 [T 37ereT offe 7&T &r Seaft] / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. R aleT THTee gl W, 3NTANR Sea JREHHT i T 3 B+ foIeet & Brs 3R #7et ATANR Sk gReerehr fdiars
Al 2 g@dr ey 3mass 9 W / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. o wATCT g OX (1) e v st o7 e W wiet Rrgsmar o § 3k (2) steasmR 3eaw o et @ |l § sk
e oft TR & srsweff st W & & AW | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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01.

02.

03.

04.

9357 IS F15 / Question Booklet Code| A

afer aRarcier g @ faig &, 5187 9/ The point of contra flexure is a point where

(A) e 3TEET FRiEe 9fiacer #dr § / Bending moment changes sign
(B)  sehel JMTEVT 3fTRehci# § / Bending moment is maximum
(C)  3T9RYUT &7l FIeeT IRadsT #aT & / Shear force changes sign

(D)  379%Y9YT g 31T § / Shear force is maximum

e I % Uk YeTatead a1 # Bl 9 % A, S gler SRRl o e F €N g # W A Hiet a%
aR&d giaT &1 g  schet JATEOT T GTT?
In a simply supported beam of length ‘I’ with triangular load varying gradually from zero at both ends to ‘W' per

meter at centre. What will be the bending moment at the centre?

(A W8 (B) WP2 (C) W12 (D) 0.064 WP

FFTS 'Tel' & 3R Teh FaATeT fAdAReT 87R “See, Yfer Ifere i ieiTs o gt fohT §U Ueh UIH-EROT & 3TTEIOT qe T
3TRW §I91T / The shear force diagram of a cantilever beam of length ‘I’ and carrying a uniformly distributed load

of "w' per unit length will be

(A) I AT/ a right angled triangle (B) mﬁargﬁma / an isosceles triangle

© Wéﬂg iaﬁia / an equilateral triangle (D) 3T/ arectangle

o IR o) Sl el sargad ¢, 39 ST O ST STl &

The load at which the column just buckles, is known as

(A)  =OTEHEeT #TR/ Bucking load (B) hifcies &I / Critical load
(C) &I #/ Crippling load (D) &3l 3URUaFd / All the above

dwelia Wt (RAfae) / Technical Assistant (Civil) - 2018 — 3TEH3MRHT / IPRC 3
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05. iy Ao grely oy Y. w=r, A1+ Y A AL glaT

The PH value of potable water shall not be less than

(A 8 (B) 7 € 8 ()

06. e eTeeT ol T FET AT §, AT SHT wqeTeld T AFAE

An aggregate is said to be flaky if its least dimension is less than

(A) FEF@ATH1/5 / 1/5th of mean dimension
(B) #ArFfdATHF 2/5 / 2/5th of mean dimension
(C) HAremfaAr+3/5 / 3/5th of mean dimension

(D) #FTETfdATH 4/5 | 4/5th of mean dimension

07. sl 3R & T PeaTafld & & forg TaaeT & 391eT f&ar seem

Which one of the following chemical will be used for Anti-termite treatment

(A)  FEARITIHIT 20% 34T/ Chlorpyrifos 20 % EC

(B)  FIRISS/ Chloride
(C)  wowgRe 3% / Sulphuric Acid

(D)  =Tsfeen 31Fe / Nitric Acid

08. &z &1 RS & uier uef 1Y & T, maRas S draear____ gy

For Five Cubic metre of brick masonry, the number of bricks required are

(A) 250 (B) 500 (C) 2500 (D) 5000

aaeieRT agrae (RAfaen) / Technical Assistant (Civil) - 2018 — 3mgdi3mRHt / IPRC




09.

10.

11.

12.

e 93T FI5 / Question Booklet Code

eI 39T I TreTRa ey & foIw 3uter fham Srar g

Vicat's Apparatus is used to determine

(A)  YURT® il GEUTYT / Initial Setting time

(B)  THT & 3iTaH el 319EAYST / Final Setting time of cement
©) AT 1 AHT Fa=IdT / Normal consistency of cement
(D)  3IRIFd Fe/ All of above

fSeget & dicels e & AT | & fow SigT SITaT §

Gypsum is added in the manufacture of Portland cement in order to

(A) e fr el TTEATI Sl & el / Shorten the setting time of cement
(B)  Hi¥ic &I el 3GFUTTST I d¢l+ / Lengthen the setting time of cement
(© Sl dTIaTe & & &=l / Decrease the burning temperature

(D)  rHeT & WHY I el / Decrease the grinding time

ol et TR N25°15'W Y AT WA / In whole circle bearing N25°15'W corresponds to

(A) 116°15’ (B) 154°4% (C) 205°1% (D) 334°45

Ao AR T, % HTH 7 AR IR U GER T IR T Tl &

The contour internal lines can cross one another on map in the case of

(A)  Ue FEATER 3]/ A vertical cliff (B) U HTEI/ A valley
(C) THHAS/Aridge (D) T Yeise 87 / An overhanging cliff

aF=iehr wera® (R / Technical Assistant (Civil) - 2018 — 33T / IPRC
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13. S vw. Sgas &, & wH. F1 Adee §2 / In GTS benchmark, GTS stands for?

14.

15.

16.

A)  ¥gd eRIvifAdr @deToT / Great Trigonometrical Survey

SO FehlvTfAdIr @efeT0T / Geodetic Trigonometrical Survey
i Tersr PRIvIACT TdfeTor / Geographical Trigonometrical Survey
D)  3Wiad H ¥ HIS o 7T / None of the above

,\,\,\,\
&£ &

T A AT TA&TOT T Fiforh Rgia &

The fundamental principle of surveying is to work from the

(A)  qUTE 37T/ Whole to the part
(B)  3fRI¥ YU/ Part to the whole
(©) ToIoT TR & 3TTR T / Lower level to higher level
(D)  3TIER TR U = T / Higher level to lower level

HefeToT T Ue QrrET, foeeT ARy SreToT qan g & aifasr 3R Feater o ared g €, @ gT ST § /

A branch of surveying in which the horizontal and vertical distances of points are obtaining by instrumental
observations, is known as

(A)  H@dT gdeoT/ Chain Surveying
(B)  woldT ¢cael TIRIUT/ Plane table surveying

(C) e Tdfefor / Tachometric surveying
(D)  Ster UMY §d&ToT / Hydrographic surveying

Tk ShICTH T YHTAT SiaTg Ud 3Heh TS 1T 3 v IREAH0T FeT F 31e7rd gl

ST & / The ratio of the effective length of a column to the least radius of gyration of its cross section is called

(A)  CeIdT 39T / Slenderness ratio (B)  37TeheleT 3=[Tel / Buckling ratio
(C)  H9T 3%urd / Crippling ratio (D) HIS 3F=fure / Compressive ratio

daeite weras (Rifaer) / Technical Assistant (Civil) - 2018 — 3TSd3mt / IPRC 6
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7. gofea iz 3emsar & Hawiferar aRor segard (HEm) &7 STTRRT AT &

18.

19.

20.

The California Bearing Ratio (CBR) method of flexible pavement design gives an idea about

(A) WWW@W/ The quality of road making material
(B) IR dIgTd / The traffic intensities

(C) &g &$r fawamd / The characteristics of soil

(D)  3WIeRd G/ All the above

eI (e) F ARWPAAN & @RI fGATSirelr &

The maximum rate of super elevation (e) is given by

(A)  e=V4525R (B) e=V?424R
(C) e=V%4225R (D) e=V%2000R

ST8T V = Kmph & argeT &1 91ty iR R = e 3 agrar B/

Where V = Speed of vehicle in Kmph and R= Radius of Curvature in meters

Faw!, RT3 AT F FeaTeR AT & e Felae @ 5

Stripping Time for vertical formwork to columns, walls and beams

(A)  16-24 €/ 16-24 hours (B) 3Tf&sT/ 3 Days

(©) 7 f&=1 17 Days (D) 14 &=/ 14 Days

R 3 SEAATS T 1ot aTel Hlofeh aTel, ¥ YT fohdr STl §72

The standard sand used in India is obtained from?

(A) S/ Mumbai (B) 33T/ Orissa

(C) SR/ Jaipur (D) TR (de=1s) / Ennore (Chennai)

dEeltdhr Geraw (Rfae) / Technical Assistant (Civil) - 2018 — 3R / IPRC
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21, qref # T Fetelr &7/ Bulking of sand is?

(A) T AT ok AT T IUTEIT o HIROT FTe % I H i
Increasing in volume of sand due to presence of moisture up to certain limit
(B)  Tel %I &Hgel / Compacting the sand

(C)  fafRIse 3MerR & dTe] T 37eTeT S¥=TT / Segregating sand of particular size
(D)  3RIFd H T 15 dT =11 / None of the above

22. i, e v HERNAR €19 FI &l Ul S S & T 3uder R S §, 58 &gl STl & / The

foundation in which a cantilever beam is provided to join two footings, is known as

(A) qeY 91 / Strip footing (B) ?i'qﬁ?fqﬁlCombined footing
(C)  §STYIE / Raft footing (D) YEgsh UIg / Strap footing

23. oprelT T TAET i & forw Jrgoaged §, i gaer

Black cotton soil is unsuitable for foundations because its

(A)  UREFIAT AT § / permeability is uncertain
(B) =¥ 37er T fATAEra & HROT IRATATHINY TRaceT & JOTEH & ol &

property to undergo a volumetric change due to variation of moisture content
(C)  HUTHHSIS g/ particles are cohesive

(D) ek &THAT & g / bearing capacity is low

24. grodes &/ Quick sand is

(A)  ®ICBICHUT ATl 7+ aTel / Moist sand containing small particles.
(B)  3M@EATE, il &Te ¥R # §Icir / Condition which occurs in coarse sand
(€) v Feufa, e aIeiT & SO UaTE T aote O GaTeTereT [HeT 319s1 TIT dlehd @ &t

Condition in which a cohesion less soil loses all its strength because of upward flow of water

(D)  3RIFT H T FIS 3T 7T / None of the above

ameiten werae (RATAe) / Technical Assistant (Civil) - 2018 — 3SR / IPRC 8
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25. SrereR #ia / Grillage foundation

(A) IR leT T IITHRAT 6T &, T ITTTF T T AFAT & TTY TS YR &7 I IS W
#arl TUTAHIUT T e T / does not require deep cutting as the required base area with required
pressure intensity is obtained at a shallow depth Soil Stabilisation

(B)  goohr 3iR fRwrdT 8/ is light and economical

(C)  Uehel ITCIE{T WU H Y@ 91U dfedld SEITA hal (3R.TH.S1.) GaRT §e1131 94T &
is constructed by rolled steel joists (R.S.J.) placed in single or double tier

(D)  39era T/ All the above

26.  siteferelisiaet aiator &, diet & el & forw gRiave 3rat sr AR Hehl f&aT ST &

In orthotolodine test, safe residual for drinking water is indicated by

(A) YIetr 397/ Yellow colour (B) @9/ Green colour

(C)  wier {1/ Red colour (D) T3 WIS =Tal / None of these

27. 33 F MHR & ITIEY HIC HT Teh Helold, & / An egg shaped cross-section of a sewer

(A)  Todi U T & FFTael fRBI & / is economical than circular cross section

(B) sk AIHH H TdcT: HHIS A7 Tl Ll § / provides self-cleaning velocity in dry weather

(C)  Yccliy 39y IC & Fehlael 3R [EUT & / is more stable than circular cross section

(D)  IWIFT H T HIS o 5181 / None of the above

28. gty r fReerar EART ST T ST § / The stability of the dam is checked by

(A) TR X =119 / Tension at the base

(B)  EIGR T &Y & 319dd=T / Overturning of the wall or dam

(C)  <rar ar aier hr FYoT / Sliding of wall or dam

(D)  3IRIFT TH/ All the above

dhelieht weraw (Rifae) / Technical Assistant (Civil) - 2018 — 3TSNRAT / IPRC 9
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29. S 3mR.E. faveyor g3 3TeRd & / PERT analysis is based upon

(A)  3ATRMETET el / Optimistic time

(B)  foRTImardr &ret / Pessimistic time

(C)  waw 31 THIGT THA / Most likely time
(D) 39T |/ All of those

30. e arfafafer & weared g 7 & &1 T arel gAY, Forwe e geaaiy U gu wadf afafafer i gesna &
Hehell &, I

interfering with the start of succeeding activity, is known as

gl ST & / The amount of time by which the activity completion can be delayed without

(A) RS AT A / Earliest completion time
(B)  qUTard/ Total float

(C) Herd TeAd / Free float

(D)  E=TH W HIS =igl / None of these

31, 3maaet & forw wer freAsf™r I £/ The correct Prismoidal formula for volume is

(A) D [first area + last area + ) Even area + 2} odd areas]

(B) D/3 [first area + last area + 4 Y Even area + 2 y odd areas]
© D/3 [first area + last area + 2 Y Even area + 4y odd areas]
(D) D/6 [first area + odd areas + 2 Y Even area + 4} odd areas]

32. ST A 3 YA T 3TAT T S arer A AT YRR ¥

The type of pointing which is extensively used in brick work

(A) gure &/ Flush pointing (B) 9@ &g/ Struck pointing
(C) Vv -Brréa/ V-grooved pointing (D) 3 &9/ Tuck Pointing

TE 1T TeTaw (RAf3e) / Technical Assistant (Civil) - 2018 - 3SR / IPRC 10
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33. T 3 U 3hTS TAEITUT SceeT &heT o ToIU 37TaedeR R I ETIESIGI

34.

35.

The load required to produce a unit deflection in a spring is called

(A) 3TTHAT €T / Flexural rigidity (B) Uael gadr / Torsional rigidity

(C)  T¥YerTear/ Spring Stiffness (D)  Zer AR/ Young's modulus

AR Aotk TR & 3THR, TSra 3 forw arae= v

According to Indian Standard specification, the temperature for curing is

(A)  5°C (B) 10°C (C) 27°C (D) 42°C

AT sshre o =0T, uRagsT, oemer 31T G ser T ufshar ¥ T 3178 78T o TfRe

The process of mixing, transporting, placing and compacting the cement concrete should not take more than

(A) 30 AT/ minutes (B) 60 f&sIc / minutes

(C) 90 f&A=e/ minutes (D) 120 f&=IT / minutes

36. alerH # JGEY aeeT & F9 ¥ AT U ST aTer ST T wgTaid Tiad__ &

Minimum percentage of steel to be used as a longitudinal reinforcement in columns is

(A) 0.8% (B) 06% (C) 0.4% (D) 0.2%

ettt ggrae (RAfaer) / Technical Assistant (Civil) - 2018 — 3m&disnt / IPRC
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37.

38.

39.

40.

w2t 9f3FT 13 / Question Booklet Code | A

JeTelel B T SUH, Teldl hi Fel HIeTS A Y 3178 =Tl gleTl ATV |

The diameter of reinforcing bars shall not exceed of the total thickness of the slab

(A) 12 (B) 1/3

(¢ 14 (D) 1/8

AN ATeTeh Gl & 3THN, Ueh ool et 7 Taolel Ds| ohl wgecTH TEAT, q T =TeT Bl=il A1gT /
According to Indian Standard code, the minimum number of reinforcing bars in a circular column should not be
less than

A 9 (B) 8

< 7 (D) 6

TSR 3 7 Tt o are &1 7 M25 07 & fore vt Haren T qdietor foRam I | = gAae Huiss Ay 4l

TehdT & / Cubes cast for M25 mix in field were tested after 7 days of curing. The minimum compressive

strength is likely to

(A) 8MPa (B) 17 MPa
(C) 22MPa (D) 25MPa

_ &3HEar (M) FER F et A O fRar Sar

Cement is packed in gunny bags of capacity (m3)

(A)  0.035 (B) 0.005
(C) 005 (D) 025

dFelihr Ger+ (RATSe) / Technical Assistant (Civil) - 2018 — 39T / IPRC 12




41.

42.

43.

gesT gf3aT ®I15 / Question Booklet Code

3719 A o) A , 3T fahw a0 Raet & e, FATHEATE

Generally in bridges, rivets used are of the diameter ranging in between

(A) 1216 AN /12t0 16 mm (B) 16T 22 f&.#T. /16 to 22 mm

(C) 22w 25 AT /221025 mm (D) 25740 fA.#T. /25 to 40 mm

Mg 3icTdRIeT fhele 48 T 3R AT 5T oaTs el ARAfEse g

The size of deep penetration fillet weld is specified as minimum leg length plus

A 1.2F#FA/A2mm (B) 2.4 TH#A/2.4 mm

(C) 3.0@&=/3.0mm (D) 4.8 TA.FHT/4.8 mm

S =i ohT 9TeTS ekt wilsS @ IfUH §, ag Ala ©

The foundation whose depth is more than its width is called

(A)  I¥elraia/ Shallow- foundation

(B)  9gdY sita/ Deep foundation

(C)  faerfdre urey Isolated footing

(D)  3WISFd # T FIS 3T 7T / None of the above

44. St 3 TR TP STeT 3rariyoT § / Maximum allowable water absorption in bricks is

A T% (B) 10%
() 15% (D) 25%

e ggrg® (RIfae) / Technical Assistant (Civil) - 2018 — 3TEYI3REAY / IPRC
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45. ZARA P ol &1 QA T8 & / The carpet area in building does not includes

46.

47.

48.

(A)  §a% eT/ Living room
(B) &Il &1/ Dining area
(C)  <iiarerd 3iR &1 819 / Toilet and Bath area
(D) 39T H T FIS & 787 / None of the above

faraforfld & & sl AT ga 3178 21 & / Which of the following liquid is more viscous

(A) ST/ Water (B) deerssT/ Turpentine
(C)  dgreT/ Petrol (D)  3REr & del / Castor Oil

e @ # & sleT &1, STer hlevRie & o 3ugea &

Which one the following is suitable for water disinfection

(A) 3Tt 399K / Ozone treatment (B) TRISdEAT 3UAR / UV treatment
(C)  F@RIEoT / Chlorination (D) 33U wefi/ All the above

Shifcieh feig FeRI=IhIUT § / Break point chlorination is the

A) o g R PrerorRier= I #i97 FRle & 3TaR Aer 5
the point at which the disinfection demand has been met in terms of chlorine

(B) &l T ST / Shortage of chlorine
(€)  3faRera FaNieT 3marTe & / Further chlorine required
(D)  3Wed H T HIS 3T 76T / None of the above

aashr Geraw (RAfae) / Technical Assistant (Civil) - 2018 — 3TEdIHRHET / IPRC
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49.  STeiY fET & gARCT et T gIeToT e & foIT 3180, $is g
The IS code for testing burnt clay building bricks is

50.

51.

52.

(A)
(B)
(©)
(D)

IS 3495 (Part | to IV)
IS 456
IS 800

3TN 7 I 1S 8 781 / None of the above

Ao d 7 & FieT § Uere & 3cda a9 TreleheT &

Which of the following material is having good thermal conductivity

(A)
(©)

(A)
(B)
(©)
(D)

FaT / Wood (B) UTSTIA/ Asbestos
9 / Stone (D) 3T/ Steel
& forT YereashRY @I sherdie # SiTST ST § / Plasticizer is added in concrete to

R # R/ Improve the workability

gl €GIeR0T & oI / For quick setting

3T TS UToT I & TIT / For obtaining higher strength
3IRIFT H T F15 377 76T / None of the above

fHEY I IRIFIAT & / Permeability of soil is

AT T =AY 7 Rt / Passage or seepage of water
f2¥EY & Heper=T €T / Shrinkage limit of soil

T2 shr Ferearar @&/ Plastic limit of soil
3RIFT H T 15 oY 78T / None of the above

daeitant wgras (Rfder) / Technical Assistant (Civil) - 2018 — 3mTEdi3m&Y / IPRC
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53.  wrely HuTe o FAEY % forw el 3ugere #iid & / The best suitable foundation for black cotton soil is

(A)  37ed: TR YOI / Under reamed pile
(B)  Ywc siia/ Raft foundation

(C)  Ta¥qd T/ Spread footing

(D)  3WRIF G/ All the above

54. e U gU geawe & RfFeral & 3T vd ore A & eIt & I F___ FeT Sl &

The ratio of volume of voids the volume of soil solids in a given mass is called as

(A)  Far Hgia T o / Saturation of soil mass
(B)  Hcd "elcd / Saturated density
(€)  RiFa 3rgara / Void ratio

(D) €I/ Porosity

95, rg & Tl #eTce 3TaRoT T 31TaeTHAT § / For footings the minimum cover required is
(A) 50 f&.#T./50 mm (B) 75 f&#N/75 mm
(C) 100 fA.#T./100 mm (D) 125 fA#./125 mm

56. ST HTeTohl o TR HiciaT 3 SEATA glal dTel SEUT T +eTci TH &

The minimum diameter of steel to be used in column as per Indian standards is

(A) 25 fH.AY. /25 mm (B) 20 f&.#Y. /20 mm

() 16 fA#A. /16 mm (D) 12 A /12 mm

aFT weras (RAf) / Technical Assistant (Civil) - 2018 — 3TEHI3MRE / IPRC
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58.

59.

60.

92T 9f3AHT 15 / Question Booklet Code | A

SIS T ORIy Tefaor 3 gedvamer ey ST &,

The bowditch’s correction method is used in surveying

(A SIS XTE 3R Broier AT ve-ga & seger of

When linear and angular measurements are compatible to each other

(B) ST XT@ 3R ol AT veh-gqu & srerger =gt gt

When linear and angular measurements are not compatible to each other

(©)  SI9 @ 3R vl AT sgeshar sirganias gt

When linear and angular measurements are inversely proportional

(D) 39T wed All the above

TG 3 HTLTeT St AV ey & FoIT T, 7 r Py &

Formula for calculating volume of Sphere, where ris the radius

(A TrPx4/3 (B) mrx1/3 (C) mr*x4/3 (D) mrx1/3

AR T Hiolg wa=mait o, e & & sler & wiete o 3T e o wavar &
Which of the following cement can be used in structures present in sea shore

(A) Tt ufaure @eie / Sulphate resisting cement

(B)  WHI=g Giéels #¥ie / Ordinary Portland cement

(C)  ga =dItoT |ieie / Quick setting cement

(D)  3WIFT F FHIS o7 7€ / None of the above

fay foig & v &7 7% @ s 100.00 &, &9 #Ah (A1) TeaTaeiR # SR qraEiR 1.250 & 3R

HEATeIhe ¥ forIT I1T 37976l UTa2is 1.500 & HEATT IR 3 3. Ue. AT §1aT?

The RL of a Bench mark of the particular point’is 100.00, the first reading taken at Bench mark (ie) Back sight
is 1.250 and next reading taken at Intermediate sight is 1.500. What will be the RL at Intermediate sight?

(A)  99.75 (B) 101.25
(C)  101.50 (D) 3T ¥ HIS sfr 78T / None of the above
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ANSWER KEY

Question Booklet Code

A

_ Qn.No. | Ans.Ke _ Qn.No. | Ans.Key
01 A 31 B
02 C 32 A
03 A 33 C
04 D 34 C
05 A 35 A
06 C 36 A
07 A 37 D
08 C 38 D
09 D 39 B
10 B 40 A
11 D 41 C
12 D 42 B
13 A 43 B
14 A 44 C
15 C 45 C
16 A 46 D
17 A 47 D
18 C 48 A
19 A 49 A
20 D 50 D
21 A 51 A
22 D 52 A
23 B 53 A
24 C 54 C
25 D 55 A
26 A 56 D
27 B 57 A
28 D 58 C
29 D 59 A
30 C 60 A




